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M 2xsm% | NS [ EW | 2523 | NS | EW | #3 | #4 | #3 ] #4 | #3 | #4 || Mean | Ns | EW
1 | N |None|  3NS-2 100 3NS-3 150 | 50 2 EW130 | 1 1
2| E|Ns| 4swe 480 4SW6 480 EW470
3| s |EwW| 2HW4 170 2SN-3 150 20 1 EW100 | -2 2
4 | W |Both| 3DN-1 100 3DN-1 100 NSO | -3 3
5| N|Ns 2SE4 170 4SE4 420 | 250 6 EW350 | 5 2
6 | E|EW| 4HN5 | 450 4HN5 | 450 NS320 | 4 -4
7 | S |Both| 5DS-1 100 5DS-1 100 NS90 | -5 5
8 | W [None| 4sS5 450 4ss5 450 NS450
9 | N|EW| 4ss1 50 4SS-1 50 NS220 | -7 7
10 | E |Both| 2sw2 | 200 3SW3 140 | 340 8 NS80 | 3 6
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bl Hru% | NS | EW | ¢%=225% | NS | EW | #1 | #2 |#1 | #2|#1 | #2 || Mean | Ns EW
1 N |None 3NS-3 150 3NS-3 150 EW130 -1 1
2 E NS 4SW6 480 4SE5 450 30 1 EW470 -1
3 S | EW 2SS-1 50 2SS-1 50 EW100 2 -2
4 W |Both 2DN3 110 2DN2 90 20 1 NSO 3 -3
5 N NS 4SE4 420 3NW3 400 20 1 EW350 -2 2
6 E | EW 4HN5 450 6HN-1 50 500 11 NS320 4 9
7 S |Both 5DS-1 100 4HS6 680 780 13 NS90 -5 -1
8 W |None| 4SN5 450 4SS5 450 NS450
9 N | EW 5CXW-1 200 5HXE-3 800 600 12 NS220 -1 -1
10 E |Both 4DS4 130 4DN4 130 NS80 2 -2
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1
¥l z9zmx [ NS | EW | 25z2% | NS | EW | #4 | #3 | #4 | #3 | #a|# || Mean | Ns EW
1| N |None] 3NS-3 150 3NS-2 100 50 2 EW130 | -1 -
2| E| NS 4SW6 480 4SW6 480 EWA470
3|8 |EW 2SN-3 150 2HW4 170 | 20 1 EW100 | -2 2
4 | W |Both| 3DN-1 100 3DN-1 100 NSO -3 3
5| N| NS 4SE4 420 2SE4 170 250 6 EW350 | -2 5
6 | E|EW 4HN5 450 4HN5 450 NS320 | 4 -4
7 | S |Both| 5DS-1 100 5DS-1 100 NS90 | -5 5
8 | W |[None| 4ss5 450 4SS5 450 NS450
9 | N|EW 4SS-1 50 48S-1 50 NS220 | -7 7
10 | E |Both| 3sws3 140 2SW-2 200 340 8 NS80 | -6 -3
A3 IMP| 1 |16 22 | 4
E2 4 TW Open 3 TW Mixed
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¥l z9zmx [ NS | EW | mz2s | NS | EW | #2 | #1 | #2 ] #1 |#2]# || Mean | Ns EW
1| N |None] 3NS-3 150 3NS-3 150 EW130 | -1 1
2| E| NS 4SE5 450 4SW6 480 | 30 1 EW470 | 1
3|8 |EW 2SS-1 50 28S-1 50 EW100 | 2 2
4 | W |Both| 2DN2 20 2DN3 110 20 1 NSO 3 -3
5| N| NS 3NW3 400 4SE4 420 | 20 1 EW350 | -2 2
6 | E|EW 6HN-1 50 4HN5 450 500 1 NS320 | -9 -4
7 | S |Both| 4Hs6 680 5DS-1 100 | 780 13 NS90 | 11 5
8 | W |[None| 4ss5 450 4SN5 450 NS450
9 | N|EW| B5HXE3 | 800 5CXW-1 | 200 600 12 NS220 | 11 1
10 | E |Both| 4DN4 130 4DS4 130 NS80 2 2
@3t IMP| 27 |12 18 | -2
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